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(vi) I97 GEIT21 - 25 T%F FH-FH GIci Jo7 & | Y% J97 & 5 3F 5 | 570 @
Ik J97 HT I 150 Feq] @ 37fer &7 787 517 =115 |

(vii) Y97 GEIT 26 FHEEA T 15T TT 4i7ifcie Femn &1 ggeE 3N T aar oa
THIHT HH G Galea & |

(viii) TAR K YRA & 170 77 IGT-FrfE] 1 377+ FTH-Ji&as] & @ia 8 7a97
T BTy |

(ix) IGI-HElE 917 % 170 @il a1 et & 39T #1 sgatd 3 widt 8

General Instructions :

(1) There are 26 questions in all.

(it)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v)  Questions No. 11 - 20 are short-answer questions carrying 3 marks each.
Out of which one question is a value based question. Answer to each of
these questions should not exceed 80 words.

(vi)  Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Question No. 26 is related to identification or locating and labelling of
geographical features on maps.

(viit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(ix)  Use of templates or stencils for drawing outline maps is allowed.
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1. H94 31 SHEE I WeTgd HhiF-a1 g ? 1
Which is the most populous continent ?

2. ot = geut S gadt J Sfas @y w9 u" g 2 1
Why do females have a biological advantage over males ?

3. Tohia JrdfcuaEdl H, SgHET® AU P ThE TR % fhATHA™ H TSTR
e g 2 1

In which type of activities, do majority of the workers get employment in
a developed economy ?

4.  Tafeean wiea fva +gd § 2 1
What is medical tourism ?

5. TSRAM & $® &A1 § SHHEAT 1 3= Tcd FAT 7 2 1
Why do some areas of Rajasthan have a high density of population ?

6.  TaEY e % & geeh B § 2 Lyl
What are the two indicators of a healthy life ? z 2

7. YRd U TR 1 TR fhE TR HIT SAT 8 2 1

How is the level of urbanisation measured in India ?

8. 3N Mg gl A oy o1&t ¥ TR e 1 FMR A o IME TSHE Rl SR
o1 ? 1
Why did Sher Shah Suri build Shahi road from Indus Valley to Sonar
Valley in Bengal ?

9. TR QW % [ IWE AR h! 9gd Ak HFAYY A Tl &l HRUT h1 IgT
i | Lyl

2 2

Mention the two reasons which have made the satellite communication
very vital for our country.

10. WRd H fhH RO § S shl T[UET 1 HIH! 3ok {11 8311 8 ? 1

What has led to a considerable degradation of quality of water in India ?

11. AFa e veg Sl gt e | wMa e % Rl SR &E w1 3@

I | 1+2=3
Define the term ‘Human Geography’. Mention any four fields of Human
Geography.

12. “fIwm@ had I THF BT B, A UG § HhNCHS INEdd g 8 |7
IETEN HlEd heH hl SATEAT HIT | 3x1=3

“Development occurs only when there is a positive change in the quality.”
Explain the statement with examples.
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13.

14.

15.
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frafz Y & =0 a0 7 ? =9 99 Ted el $iY A el Q@ foemwane
%I T HifTT | 1+2=3
What is meant by subsistence agriculture ? Explain any two

characteristics of intensive subsistence agriculture dominated by wet
paddy cultivation.

“Icb R HIA o HeH H Yo, IHEEAT o YAl 1 IAE I W TH
HEwaqUl HHeh @ 8 |7 YRd & IS i U ITe0T gt 39 HY T aueA

I | 3x1=3

“Migration has been an integral part and a very important factor in
redistributing population over time and space.” Justify the statement by
giving any three suitable examples from India.

o e U wRE % 2001 & HEHE WU @ fo@W a6

rayiges Tege Hifve o fFefefea gwt & 3w G 1+1+1=3
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(15.1) @) IR (B) g 3ifehd W sl UgETHT 3R 37 719 ferflay |
(15.2) 390 9RA & ol & Tt & 9m foafay, S0 =1 7emm 7= 2 |

(15.3)

‘T wTee <hl giHTST ST |

Carefully study the map of India given below, showing metropolitan
cities of 2001, and answer the following questions :

(15.1)

(15.2)

(15.3)
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Identify and name the metropolitan cities marked as (3) and ®.

Name any two states of Northern India, which do not have any

metropolitan city.

Define the term ‘metropolitan city’.
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Fie:  [HElciiagad g97 Fae gIRaTiad wheieEl & 077, 397 &I 15 @ €U W&

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 15 :

‘T w1eg i TRATYT <IT | I % €1 eI oh ATH Saisy | 1+2=3
Define the term ‘metropolitan city’. Name the two metropolitan cities of
Punjab.

16. WA # YA gt 1 & fAufafem w0 oe @ 2 2 F8 dF s w
T | 3x1=3

Why is the area of cultivable land decreasing day-by-day in India ?
Explain any three reasons.

17. 9Rd H UM I HI 8 THR Tga Hd & ? Fohegl 0 IgTewen afed same
IS | 3x1=3

How do industries pollute water in India ? Explain with any three

examples.

18. wifcass WS fohs hgd 8 2 unfcass @fast i &I @ fasivard fafgu | 1+2=3
What are metallic minerals ? State any two characteristics of metallic
minerals.

19. “uddim &= Ty sriwe” i fohegl o fersrsansti =1 avfq i | 3x1=3
Describe any three characteristics of “Hill Area Development
Programme”.

20. U A FEEA] b TV FR YELF & U @ TR THa-ge i sTevehal
2, o8 s adum o wret difedt & fiw 39 & Ivg S« w=ie A5En oo
Treran @ 2 o Wegl ® TE i | 3
What human values are required for the conservation and management

of our water resources, so that our present and future generations may
get usable water in sufficient quantity ? Explain in your own words.

21. ‘fafmio’ weg i aftumt @ | engfes o9 Yum & fafmio i feedl =m
forRwareti w1 auia i | 1+4=5

Define the term ‘manufacturing’. Describe any four characteristics of
modern large scale manufacturing.

22. ‘uftaga’ o1 w7 1 3 2 3HhI Tohgl IR fomivareti =l T¥ v | 1+4=5

What is the meaning of ‘transport’ ? Explain its any four characteristics.
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23. ‘MR qen ‘FAAUPE MR wegl il ghamyr e qen y@w H dfb-de
ERERICTIE 1+1+1é+1é=5

Define the terms ‘trade’ and ‘international trade’ and state three
characteristics of each.

24, “grfiu sfeqEt st Fepedt 3t yo9w w9 @ 9y @ I B § 17 fonedi uiw
YT Rl gIT 39 YA <t g i | 5x1=5
“Rural settlements are most closely and directly related to land.” Support
this statement with any five suitable arguments.

o o

25. “9nd % fia "eed &1 yey ford aut § agaar w1 7 |7 gl a3
IeTELvTt Afgd 39 A i gfE Hifu | 5x1=5

“The pattern of the composition of India’s exports has been changing over

the years.” Support this statement with any five suitable examples.

26. (26.1) WER % fqu T SIS WA # FHGIRIG 91 @& A, B, C
w D foam o § - 4x ;=2
A, TR § TEH S1fieh ST Tl oF
B. W4 foohE @k 2003 H Aehad Hod gaehish el o
C. AETE UR-HRIE e o1 Ifm TevH

D. U Y4 94197
3T AU hl UEEN shifoL 3 Tcdeh AT o HH il T8 W@ T
391 gat W fafae |

(26.2) WRA % QU MU Uit @AM § fFefafad i fwafa 39w
ol g fe@msu o7 3 AW fofv 3x1=3
1) 2001 T Y HH SHEET ATAT T
(i) ¢ R o 78y &1 TgR
(iil) SeheTe ¥ oo e w9
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(26.1)

(26.2)

In the given political outline map of the World, the following
four features A, B, C and D have been shown :

A.
B.

C.

D.

The country having the largest population in Africa

The country having the highest rank in Human
Development Index in 2003

The terminal station of the Australian Trans-Continental
Railway.

A major seaport

Identify these features and write their correct names on the

lines marked near each feature.

In the given political outline map of India, locate and label the

following with appropriate symbols :

(1)
(ii)

The State having the lowest population in 2001
A metropolitan city of Maharashtra located on the coast

(iii) The Steel plant located in Chhattisgarh

Fie :  FHEICTRIT F97 HIT FIBATAT TGOSl & 1078, J97 G&IT 26 & T T &

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 :

3ThIhT H &g AT SFHEEAT aTcl <1 1 A Farsy |

Ha foshE @i 2003 H AHan Yo Ik el of I AW
Sdr=q |

ameeforad UR-mEEdE Wmmt & Rt sif<m wvm @ AW
AT |
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(26.1)
(26.2)

(26.3)

(26.4)
(26.5)
(26.1)
(26.2)

(26.3)

(26.4)
(26.5)

2001 H 9 T8 HH SHEEAT a1 TsT 1 I FdTsy |
T § fod drer 3 359Td §39 T 919 <qTsy | 5x1=5

Name the country having the largest population in Africa.

Name the country having the highest rank in Human
Development Index in 2003

Name any one terminal station of the Australian
Trans-Continental Railway.

Name the State of India having the lowest population in 2001.
Name the Iron and Steel plant located in Chhattisgarh.
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I E. 26.2 & U For question no. 26.2

YA &1 W@-AHTas (i)
Outline Map of India (Political)
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